
Bell knitting pattern 1.

Description of knitting a bell 1.
Row 1. Connect 12 loops of the chain into a ring with a column. 1 chain stitch, 25 double crochets in the middle of the ring. Distribute them evenly and close them

with a half-column on the  rst column.

Row 2. 7 loops of the chain, a double crochet stitch in the seventh loop, counting from the hook, 2 loops of the chain (a double crochet stitch in the same stitch, 2

chain loops) done twice, connect with a half stitch to the  fth loop of the seven-loop chain. In total you will get 4 two-loop cells.

Row 3. 3 chain loops, double crochet in the same loop, 4 tbsp. double crochet in the  rst square, st. double crochet in next st. with 2 double crochets, 4 tbsp.

double crochet in the next square, 2 tbsp. double crochet in next st. with 2 double crochets, 4 tbsp. double crochet in the next square, 1 tbsp. double crochet in

next st. with 2 double crochets, 4 tbsp. with a double crochet in the next cell. Connect with a half-stitch to the third loop of the initial chain. There will be 22

columns in total.

Row 4. 3 chain loops, 2 tbsp. double crochet repeat the stitch (dc in each of the 3 next stitches, 2 double crochets in the next stitch) until the end of the row, close

with a half-cable in the third loop of the initial chain. There are 28 columns in total.

Row 5. 1 loop of the chain, a stitch in the same loop, (3 loops of the chain, skip the next stitch, a stitch in the next double crochet) repeat until the last stitch, skip

the last stitch, 1 loop of the chain, 1 stitch in the  rst stitch. to make another arc. There are 14 arms in total.

Row 6-9. 1 loop of the chain, a stitch in the same loop, (3 loops of the chain, a stitch in the next loop) repeat in a circle, 1 loop of the chain, 1 stitch in the  rst

stitch to form another arc.

Row 10. 1 loop of the chain, a stitch in the same loop, 3 loops of the chain (a stitch in the next arc, 3 loops of the chain) in a circle, connect with a half-stitch into

the  rst stitch.



Row 11. 1 column in the  rst arc, 1 loop of the chain, 3 columns in the same arc and in all others in a circle, connect with a half-column in the  rst column. There

are 42 columns in total.

Row 12. 1 loop of the chain, stitch in each stitch of the previous row, close o .

Row 13. 1 chain loop, 1 tbsp. in the same loop, 1 chain loop, skip a trace. column, st. next st., 1 loop of chain (st. double crochet. 3 loops of chain, st. double

crochet) in next. post, 1 chain loop, st. double crochet Solbik, 1 chain loop, skip next. solbik * st. single crochet in the next stitch, 1 loop of the chain, skip the next.

column, st. double crochet column, 1 chain loop, (double crochet, 3 chain loops, double crochet) in the next. post, 1 chain loop, st. double crochet stitch, 1 chain

loop, skip next. column, repeat from * in a circle, close. There will be a total of 7 three-loop holes.

Row 14. 1 chain loop, 1 tbsp. in the same place and next. loop, (st. in the next st. and the next loop of the chain) twice, 3 loops of the chain, skip the next one.

loop, st. next stodbik, * (stitch in the next loop and in the next loop) repeat 5 times, 3 loops of the chain, skip the next one. chain loop, st. next loop of the chain,

repeat from * 5 more times, (st. in the next st. and in the next loop of the chain) repeat twice, close.

Row 15. 8 chain loops, st. in the  rst three-loop space, 4 chain loops, skip next. 5 columns, * st. with 2 double crochets. st., 4 chain loops, st. three-loop space in

the trace, 4 chain loops, skip the trace. 5 columns, repeat from * in a circle, close. There will be 14 loops in total.

Row 16. 1 chain loop, 1 tbsp. in the same loop and in each loop in a circle. Close. Finish.

Row 1: Close 12 air loops (VP) into a ring with a connecting post. 1 V.P., 25 art. Place without double crochet evenly on the ring, close with a connecting stitch. with

the  rst air loop.

Row 2: 7 V.P., art. with two yarn overs in the seventh loop of the chain, 2 V.P., art. with two yarn overs in the same loop of the chain, 2 V.P., art. with two double

crochets, close the same loop of the chain, 2 V.P., into a ring with the  fth loop of the chain.

Row 3: 1 V.P., 1 tbsp. single crochet in the same loop, 3 tbsp. without a crochet in the next lower 2 v.p., (1 single crochet in a double crochet stitch, 3 single crochet

in the next 2 v.p.) to the end, close the row into a ring with a half-crochet. 16 loops.

Row 4: 8 V.P., (st. with  ve crochets in the next single crochet row of the bottom row, 1 V.P.) repeat until the end. At the end, close it into a ring with a connecting

post with the  rst chain from V.P.

Row 5: 1 V.P., 1 tbsp. single crochet in the same loop, 1 tbsp. without a crochet in each next V.P. and in each st. with  ve yarn overs, repeat until the end of the

row. Close it in a ring. 32 loops.

Row 6: 1 V.P., 1 tbsp. Single crochet in the same loop and in each subsequent loop. Close it in a ring.

Row 7-9: Repeat rows 4-6.

Row 10: 1 V.P., 1 tbsp. Single crochet in that same loop and in all the others. Close it in a ring.

Row 11: (1 V.P., 1 single crochet in the next loop of the bottom row) repeat until the end, close in a ring.
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Bell knitting pattern 3.

Description of knitting a bell 3.

Row 6:

Separate motive:

22 V.P., Art. with two yarn overs in the eighth loop of the chain from the hook, 3VP, skip three loops of the chain st. double crochet into the next loop of the chain,

3 V.P., skip the next three loops of the half-dc chain into the next loop of the chain, 3 V.P., skip three loops of the chain st. without a crochet in the next loop of the

chain, 2 V.P.

Row 1: Close 12 air loops (VP) into a ring with a connecting post. 1 V.P., 25 art. Place without double crochet evenly on the ring, close with a connecting stitch. with

the  rst air loop.

Row 2: 7 V.P., art. with two yarn overs in the seventh loop of the chain, 2 V.P., art. with two yarn overs in the same loop of the chain, 2 V.P., art. with two double

crochets, close the same loop of the chain, 2 V.P., into a ring with the  fth loop of the chain.

Row 3: 1 V.P., 1 single crochet in the same loop, 3 tbsp. without a crochet in the  rst two v.p. (single crochet in the next double crochet stitch, 3 single crochet

stitches in the next two v.p.) repeat until the end, close o . 16 loops.

Row 4: 1 V.P., art. single crochet in the same loop, knit a separate motif [size=18]{see description below}[/size] (single crochet in the next single crochet of the

previous row, separate motif) knit to the end, close in a ring with a half-column. Break the thread. There should be 16 motifs.

Row 5: Tie the end of the thread st. without crochet on the cone of the motif, 1 V.P., 3 tbsp. without a crochet in the same place, 1 V.P. (3 single crochet stitches in

the cone of the next motif, 1 v.p.) to the end, close into a ring. 48 loops.

 1 V.P., 1 tbsp. without a crochet in the same loop and in each subsequent loop of the previous row, close. Finish.



Bell knitting pattern 6.

Description of knitting a bell 6.
Row 1: Close 12 air loops (VP) into a ring with a connecting post. 1 V.P., 25 art. Place without double crochet evenly on the ring, close with a connecting stitch. with

the  rst air loop.

Row 2: 7 V.P., art. with two yarn overs in the seventh loop of the chain, 2 V.P., art. with two yarn overs in the same loop of the chain, 2 V.P., art. with two double

crochets, close the same loop of the chain, 2 V.P., into a ring with the  fth loop of the chain.

Row 3: 1 V.P., art. single crochet in st. with two yarn overs of the previous row, 4 tbsp. single crochet in the  rst two v.p., (single crochet in the next st. double

crochet in the next double crochet st. of the previous row, 4 single crochet in the next two v.p.) repeat until the end. Separate art. connect with the  rst st. without

a crochet. 21 Art. without a crochet.

Row 4: 1 V.P., 1 tbsp. single crochet in the  rst st. without crochet of the previous row, 4 V.P., 1 tbsp. Single crochet in the third stitch. single crochet of the

previous row (skipping two single crochet stitches of the previous row) repeat to the end. Knit the last arch like this: 2 V.P. 1 tbsp. double crochet in the  rst st.

Single crochet for this row. It turns out 7 arches.

Row 5: 1 V.P., 1 tbsp. single crochet in the middle of the arch (7 v.p., single crochet in the middle of the next arch) repeat until the end. Knit the last arch like this: 3

V.P., 1 tbsp. with two double crochets in the  rst st. without a crochet.

Row 6: 1 V.P., 2 tbsp. without crochet in the middle of the  rst arch from V.P., 2 V.P. (2 single crochet stitches in the middle of the next arch from V.P., 2 V.P.)

repeat until the end, close in a ring.

Row 7: 1 V.P. (2 single crochet stitches in two single crochet stitches of the previous row, 2 single crochet stitches in two VP rows) repeat until the end. It should be

28 sts.

Row 8: 1 V.P., 2 tbsp. single crochet in the  rst st. single crochet of the previous row, 3 tbsp. single crochet in next sts. single crochet of the previous row (2 single

crochet stitches in the next single crochet stitch of the previous row, 3 single crochet stitches in the next single crochet stitches of the previous row) repeat to the

end, close o . 33 loops.

Row 9 and 10: 1 V.P., one art. single crochet in each st. Single crochet of the previous row, repeat until the end, close o .

Row 11: 1 V.P., 1 tbsp. single crochet in the  rst st. without crochet of the previous row, 5 V.P., art. Single crochet in the third stitch. single crochet of the previous

row (skipping 2 single crochets of the previous row) repeat to the end. Perform the last arch like this: 2 V.P., 1 tbsp. double crochet in the  rst st. without a

crochet.

Row 12: 1 V.P., 1 tbsp. single crochet in the middle of the arch (7 single crochet in the middle of the next arch) repeat until the end. Knit the last arch like this: 3

V.P., 1 tbsp. with two double crochets in the  rst st. without a crochet.

Row 13: 1 V.P., 3 tbsp. without a crochet, perform in the  rst arch, 2 v.P. (4 single crochet stitches in the middle of the next arch, 2 V.P., 3 single crochet stitches in

the middle of the next arch, 2 V.P.) repeat until the end, close o .

Row 14: 1 V.P. (3 single crochet stitches in the  rst three single crochet stitches of the previous row, 2 single crochet stitches in the next VP, 4 single crochet

stitches in the next four single crochet stitches of the previous row, 2 single crochet stitches in the next V.P.) repeat until the end, close.



Row 1: Close 12 air loops (VP) into a ring with a connecting post. 1 V.P., 25 art. Place without double crochet evenly on the ring, close with a connecting stitch. with

the  rst air loop.

Row 2: 7 V.P., art. with two yarn overs in the seventh loop of the chain, 2 V.P., art. with two yarn overs in the same loop of the chain, 2 V.P., art. with two double

crochets, close the same loop of the chain, 2 V.P., into a ring with the  fth loop of the chain.

Row 3: 1 V.P., art. single crochet in st. with two crochets, 3 tbsp. single crochet in the  rst 2 VPs, (single crochet in the next double crochet stitch, 3 double crochet

stitches in the next two VPs) repeat until the end, close o . 16th century without a crochet.

Row 4: [7 V.P., insert the hook into the fourth V.P. from the hook and close with a separate st. without double crochet (picot)] repeat, 4 V.P., tbsp. Single crochet in

the third stitch. single crochet of the previous row (skipping two single crochet stitches of the previous row), st. single crochet in next st. Single crochet of the

previous row, repeat to the end. Close in the  rst st. without a crochet. Break the thread. There should be eight “decorative arches”.

Row 5: Tie the thread to the middle loop of the “decorative arch”, 4 V.P., art. without a crochet in the middle of the next “decorative arch”, repeat until the end,

Row 15: 1 V.P., one art. single crochet in each st. Single crochet of the previous row, repeat until the end, close o .

Row 16: 1 V.P., 1 tbsp. single crochet in the  rst st. without crochet of the previous row, 1 V.P., 1 tbsp. double crochet in the third stitch. without double crochet of

the previous row (1 V.P., 1 double crochet in the same loop) – repeat 2 times, 1 V.P., 1 tbsp. Single crochet in the third stitch. without crochet of the previous row,

repeat until the end, close in a ring. 10 fans.

Row 17: 1 V.P., 1 tbsp. single crochet in each stitch and each V.P. previous row.
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Row 1: Close 12 air loops (VP) into a ring with a connecting post. 1 V.P., 25 art. Place without double crochet evenly on the ring, close with a connecting stitch. with

the  rst air loop.

Row 2: 7 V.P., art. with two yarn overs in the seventh loop of the chain, 2 V.P., art. with two yarn overs in the same loop of the chain, 2 V.P., art. with two double

crochets, close the same loop of the chain, 2 V.P., into a ring with the  fth loop of the chain.

Row 3: 1 V.P., art. single crochet in the same loop, 3 tbsp. single crochet in the  rst two v.p., (single crochet in each st. with two crochets of the previous row, 3

single crochet in each arch of two v.p.) to the end, close in a ring. 16 p.

Row 4: 1 V.P., art. single crochet in the same loop, ch 5, skip the next st. single crochet of the previous row (single crochet in the next single crochet of the

previous row, 5 V.P., skip the next single crochet of the previous row) to the end; close in a ring. 8 arches.

Row 5: 1 V.P., art. single crochet in the same loop, 2 tbsp. without crochet into the  rst loops of the arch, 11 V.P., insert the hook into the eleventh V.P. (count from

close with the  rst st. without a crochet. 8 arches from V.P.

Row 6: 1 V.P. (2 single crochet stitches in the chain from V.P., single crochet in the fourth V.P. from the hook (picot), 2 single crochet stitches in the same chain

from V.P.) repeat until the end, close .

Row 7: 1 V.P., 1 tbsp. single crochet in st. of the previous row (9 V.P., go around the ray from the pickle of the previous row, single crochet in the middle between

the picots of the previous row), repeat until the end, close.

Row 8: 1 V.P., 1 tbsp. single crochet in st. without crochet of the previous row (3 V.P., single crochet in an arch of nine V.P., 4 V.P., single crochet in the same arch,

3 V.P. in the same arch, 1 single crochet stitch in single crochet stitch of the previous row) repeat until the end, close in a ring.

Row 9: 2 V.P., (1 single crochet in an arch of three V.P., 9 double crochets in an arch of four V.P., 1 single crochet in an arch of three V.P.) repeat until the end, close

it in a ring. Break the thread.

Row 10: Tie the thread to the middle st. double crochet, 1 tbsp. without a crochet (7 v.p., single crochet in the middle single crochet of the next “hill”), repeat until

the end. 8 arches.

Row 11: 1 V.P., one art. without a crochet in each V.P. and every st. Single crochet of the previous row, knit to the end, close in a ring. 64 p.

Row 12: 1 V.P., one art. single crochet in each st. without crochet of the previous row.

Row 13: 1 V.P., 1 tbsp. single crochet in the  rst st. without crochet of the previous row, 1 tbsp. single crochet in next st. single crochet of the previous row (6 VP,

skip 4 single crochet stitches of the previous row, 4 single crochet stitches in the next single crochet stitches of the previous row) repeat 6 times, 6 VP, skip 4 tbsp.

single crochet of the previous row, 2 tbsp. single crochet in next st. without crochet of the previous row, close into a ring.

Row 14: 1 V.P., 1 tbsp. single crochet in the  rst st. without crochet of the previous row, [1 picot (3 v.p. close st. without crochet), 3 tbsp. single crochet into the

arch from V.P., 1 picot, 3 tbsp. single crochet in the same arch, 1 picot, 1 tbsp. single crochet in the second st. without crochet of the previous row] repeat until the

end.
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Row 1: Close 12 air loops (VP) into a ring with a connecting post. 1 V.P., 25 art. Place without double crochet evenly on the ring, close with a connecting stitch. with

the  rst air loop.

Row 2: 7 V.P., art. with two yarn overs in the seventh loop of the chain, 2 V.P., art. with two yarn overs in the same loop of the chain, 2 V.P., art. with two double

crochets, close the same loop of the chain, 2 V.P., into a ring with the  fth loop of the chain.

Row 3: 1 V.P., art. single crochet in the same loop, 3 tbsp. single crochet in the  rst two stitches of the v.p., (single crochet in each st. double crochet and 3 single

crochets in each subsequent chain of v.p.) 16 loops.

Row 4: 2 V.P., art. with a double crochet in the same loop, 3 V.P., art. without a crochet in the same loop, st. single crochet in each st. without a crochet. * Art.

without a crochet in the next st. without a crochet of the previous row, 3 V.P., knit 3 tbsp. with two yarn overs together and in one loop, 3 V.P., st. without a

crochet in the same loop, st. single crochet in next st. without crochet; repeat from * to the end.

Row 5: 3 V.P., art. without crochet in the middle of the next sheet, * 9 V, P, art. without a crochet in the same loop, 3 V.P., art. without a crochet in the next petal,

repeat from * to the end, 6 V.P., art. with a double crochet in the same pearl for the arch equation - 8 arches.

Row 6: 1 V.P., 4 tbsp. without crochet in the middle of the arch and in each subsequent arch, close o  32 sts.

Row 7: 1 V.P., Art. Single crochet in the same loop of the previous row and in each next row, close.

Row 8: 4 V.P., skip next st. without a crochet (double crochet in single crochet stitch, 1 VP, skip the next single crochet stitch from the previous row) - to the end,

the hook) - having formed a ring, knit the next loops around this ring (2 tbsp. Single crochet, 2 tbsp., 7 tbsp. Single crochet. 2 tbsp. Single crochet.), 2 tbsp. Single

crochet.) into a ring, returning to the arch 2 tbsp. without crochet in the same arch * st. single crochet in next st. single crochet of the previous row, 2 tbsp.

without crochet into the next arch from V.P., 11 V.P. close it in a ring and move on to tying the ring (2 single crochets, 2 half crochets, 7 single crochets, 2 half

double crochets, 2 single crochets), returning to the arch - 2 tbsp. without crochet in the same arch, knit from * to the end, close, break the thread.

Row 6: Tie a thread to the middle double crochet stitch, tying the ring, 1 V.P., tbsp. without a crochet in the same loop, 4 V.P. (single crochet in the middle double

crochet, tying the next ring, 4 v.p.) to the end.

Row 7: 1 V.P., art. single crochet in the same loop (single crochet, 2 v.p., single crochet) in the  rst loop of the previous arch, * st. single crochet in the next loop

(single crochet, 2 v.p., single crochet) in the next arch, repeat from * to the end, bind o , 24 sts.

Row 8: 1 V.P., art. single crochet in the same loop, (4 V.P. in the  rst loop of the chain from V.P. (count from the hook) knit three double crochets together, 4 V.P. in

the  rst V.P. chain of V. P. (counting from the hook) knit four double crochet stitches together, skip a single crochet stitch, two VP and single crochet stitches from

the previous row, single crochet stitch in the next single crochet stitch from the previous row) repeat to the end , 5 V.P. close into the tip of the “leaf”. 8 motifs

from “leaves”.

Row 9: 1 V.P., Art. without a crochet in the same loop, 5 V.P. knit into the  fth V.P. (count from the hook) four double crochets together, * st. without crochet into a

top of two “leaves”, 5 V.P. knit into the  fth V.P. (count from the hook) four double crochets together; repeat from * to the end. Finish.
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close into the third loop of the  rst chain from VP. 16 rapports.

Row 9: 4 V.P., 3 tbsp. with two yarn overs in the  rst arch from V.P., art. with two yarn overs in the next st. without crochet, 1 v.p., * tbsp. with two yarn overs in

the next st. without crochet, 3 tbsp. with two yarn overs in the next st. without crochet, art. with two yarn overs in the next st. without crochet, 1 V.P.; repeat from

*; close. 8 rapports.

Row 10: 3V.P. [one art. with two double crochets in each next st. with two yarn overs from the previous row, which are knitted together, 7 V.P. (5 stitches with two

yarn overs in each next stitch with two yarn overs of the previous row, which are knitted together 7 v.p.) repeat until the end, close o ]

Row 11: 1 V.P., art. without a crochet in the same loop, st. Single crochet in each V.P. and in each “petal” loop 64 tbsp.

Row 12: 1 V.P., art. single crochet in the same loop, and in each next st. without crochet of the previous row.

Row 13: 3 V.P., in the third V.P. knit three st. with double crochet, knit together, skip st. without crochet of the previous row, st. single crochet in next st. without

crochet of the previous row, to the end. Finish.

1. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet.

2. 6 chain, double crochet in the sixth loop from the hook, 1 chain, (double crochet in the same loop, 1 chain) repeat 3 times, connect with a single crochet to the

 fth loop of the initial stitch. Only 5 cells.

3. 4 chain stitches, (4 double crochet stitches, knitted together) in the  rst square, 5 chain stitches, * (5 double crochet stitches, knitted together) in the next

square, 5 chain stitches * repeat in a circle, close o .

4. Chain 4, double crochet in the same stitch, chain 2, skip the next 2 double crochets, chain 2 double crochets in the next chain, chain 2, (2 double crochets in the

top of the next 5 stitches worked together, 2 air, skip the next 2 air, 2 double crochets in the next air, 2 air) repeat in a circle, close

5. 1 chain, half stitch between the  rst two stitches with 2 double crochets, (2 love knots, half stitch between the next two stitches with 2 double crochets) repeat 8

more times, 1 love knot, insert the hook into the  rst half stitch, pull out a loop ~ 1cm, yarn over, pull the thread through 2 loops on the hook, the last arc. There

are 10 arcs in total.

6. 1 chain, half stitch in the same loop, (2 love knots, half stitch at the top of the arc) repeat 8 more times, 1 love knot, insert the hook into the  rst half stitch, pull

out a loop ~ 1cm, yarn over, pull the thread through 2 loops on the hook , the last arc.

7. 1 chain, 2 half-columns in the same loop, 4 chains, (2 half-columns at the top of the arc, 4 chains) repeat in a circle, close. Only 10 cells.

8. 1 chain stitch, half stitch in the same loop and in the next one, 4 half stitches in the  rst cell, (half stitch in the next 2 loops, 4 half stitches in the cell) repeat in a

circle, close. There are 60 half-columns in total.

9. 1 chain, half-stitch in the same loop and in each half-stitch of the previous row, close.

10. 5 chain stitches, skip the next 2 columns, (double crochet in the next half-column, 2 chain stitches, skip the next 2 half-columns) repeat in a circle, close on the

third loop of the initial chain. Only 20 cells.

11. 1 chain, 1 chain, half-stitch in the same loop and in each half-stitch of the previous row, close.

12. 1 chain, 1 chain, half stitch in the same loop and in each half stitch of the previous row, close. Finish.

Love Knot.

Pull the loop about 1 cm, yarn over, pull the thread through the loop - that is, knit a loose loop, a half-stitch in the middle of the  rst pulled loop.
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Bell knitting pattern 11.

Description of knitting a bell 11.
1 row. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet

2nd row. 7 chain stitches, a double crochet stitch in the seventh chain stitch from the hook, 2 chain stitches, (a double crochet stitch in the same loop, 2 chain

crochets) repeat twice, connect with a half stitch with the  fth chain loop of the initial chain of 7 loops. You will get 4 cells.

3rd row. 3ch, * 5dc in arch of 2ch, dc in dc2n before row * to end. Total 24 dc.

4 row. 4 ch, dc in the same st, ch, dc in the next st, skip 1 st, * dc, skip 1 st, dc in the next st, (ch, dc, ch, dc in) in one st before the row, dc in the next st, skip 1 st, *

- repeat 3 times, sc, skip st., dc, ch, connecting in 3rd of 4 chs. There are 4 “fans” in total.

5 row. Ch 1, two dc in arch from ch before row, dc in each ch and dc in row. (at the top of the arches - two sc) 36 stitches in total.

6th row. Ch, 2 sc in pre row, ch 7, * skip 7 sts in pre row, two sc in next two sts. (top of arches), ch 7* - 3 times, connect.

7th row. 6 ch., *dc2n in the next stbn before row, (ch, dc, ch, dc, ch, dc, ch,) in an arch of seven ch, dc2n in the stbn before row, 2 ch, * repeat 4 times, connecting

st in 4th of 6 ch.

8 row. Ch, dc in each ch and st in pre row. Total 44 tbsp.

9-10 row. Ch, sc in each st before row.

11 row. Ch, 5 sc in each st of the pre row, 2 sc in the next st, 10 sc in each st of the pre row, 2 sc in the next st, so on until the end. Total 48 stbn.



12 row. Ch 3, * skip st, dc in next st before row, ch * repeat to end. There are 24 cells in total.

13 row. Ch, dc in each ch and dc in pre row. Total 48 tbsp.

14 row. 3 ch, * skip two sts before the row, dc in the next st., 2 ch, dc2n in the next st., ch 2, dc2n in the same st., 2 ch, dc in the next st, skip two sts,, sc * repeat 6

times. Connect.

15 row. Ch., * 2 sc in arch from 2ch, sc in dc, 2 sc in arch from 2ch, sc in sts2n, 2 sc in arch from ch, sc in sts2n, 2sc in arch from 2ch, sc in dc, 2sc in arch from 2ch*

repeat until the end of the row. Finish.

1. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet.

2. 7 chain stitches, a double crochet stitch in the seventh chain loop from the hook, 2 chain stitches, (a double crochet stitch in the same loop, 2 chain crochets)

repeat twice, connect with a half stitch with the  fth chain loop of the initial chain of 7 loops. You will get 4 cells.

3. 1 chain stitch, 1 half-dc in the same loop, 3 half-dcs in the next cell, 2 half-dcs in a double crochet, 3 half-dcs in a square, half-dc in a double crochet, 3 half-dcs

in the next square, 2 half-dcs in a double crochet 2 double crochets, 3 half-dcs in the next square, bind o . There are 18 half-columns in total.

4. 4 chain stitches, a double crochet stitch in the same loop, (4 chain stitches, a tight stitch in the  rst chain stitch - it turns out to be a picot), 4 chain stitches, * a

tight stitch in the same loop and the next 3 stitches, 4 chain crochets, (3 chain stitches with 2 yarn overs, knitted together, 1 picot, 4 chain stitches, 1 chain stitch)

in the same loop at the base of the chain, * repeat in the round, 4 chain stitches, chain stitch in the next 2 stitches and in the same loop as the  rst chain, 4 air,

connect in a tight column with the top of the initial chain.

5. 1 single crochet in the  rst picot, * (3 chain crochets, 3 double crochets, knitted together, in the third loop from the hook) repeat 2 times, single crochet in the

next picot * repeat 4 more times, 3 chain crochets, 3 double crochets with a crochet, knitted together, in the third loop from the hook, yo, insert the hook into the

 rst picot, yo, pull out a loop, yo, pull the thread through 2 loops on the hook, (yo, insert the hook into the same loop, yo, pull out a loop, yarn over, pull the

thread through 2 loops on the hook) repeat 2 times, yarn over, pull the thread through all 4 loops on the hook, forming the last petal. There are 6 petals in total.

6. * (3 chain crochets, double crochet in the third loop from the hook) repeat 2 times, single crochet in the middle of the next petal * repeat in a circle.

7. 3 chain, skip the next stitch, single crochet into the chain loop at the base of the next stitch, 3 chain, single crochet in the next stitch, * / (3 chain, double

crochet, 3 chain, single crochet) in that the same loop /- between /-/ repeat 2 times, chain 3, skip the next stitch, single crochet into the chain loop at the base of

the next stitch, chain 3, single crochet into the next stitch * repeat 4 more times, (chain 3, stitch with two yarn overs, 3 chain crochets, single crochet) in the same

loop, 3 chain crochets, (yarn over, insert hook into same loop, yarn over, pull out loop, yarn over, pull thread through 2 loops on hook) repeat 2 times, yarn over,

Pull the yarn through all 3 loops on the hook.

8. 3 chain, * / 2 yarn overs, insert hook into the same loop, yarn over, pull out loop, (yarn over, pull thread through 2 loops on hook) 2 times / - between /-/ repeat

2 times *, 2 yarn overs, insert hook in the same loop, yarn over, pull a loop, (yo, pull the thread through 2 loops on the hook) 2 times, repeat between *-* again,

yarn over, pull the thread through all 6 loops on the hook, chain 4, dc 2 double crochet in the fourth loop from the hook, 6 chain crochets, double crochet in the

fourth loop from the hook, * 3 double crochets, knitted together, 4 chain crochets, double crochet in the fourth loop from the hook, 6 chain crochets, double

crochet in the fourth loop from the hook Yarn over into the fourth loop from the hook * repeat in the round, close o .

9. / 3 chains, double crochet in the same loop, 3 chains, single crochet in the  rst loop of the chain - small picot, , 3 chains, single crochet in the same loop / repeat
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2 times, 4 chains, single crochet in the next double crochet and in the next 3 chain stitches, chain 4, single crochet in the top of 3 double crochets worked

together, * / (chain 3, double crochet, small picot, chain 3) in the same stitch / 2 times, chain 4, single crochet into the next double crochet and into the next 3

chain stitches, chain 4, single crochet into the top of 3 double crochets, knitted together * repeat in the round. Finish.

1. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet.

2. 7 chain stitches, a double crochet stitch in the seventh chain loop from the hook, 2 chain loops, (a double crochet stitch in the same loop, 2 chain crochets)

repeat twice, connect with a half stitch with the  fth chain loop of the initial chain of 7 loops. You will get 4 cells.

3. 1 chain, 1 single crochet in the same loop, 3 single crochets in the next box, (1 single crochet in a double crochet, 3 single crochets in a box) repeat in a circle,

close the row. There are 16 single crochets in total.

4 and 5. 4 chain stitches (dc in the next stitch, 1 chain stitch) repeat in a circle, close in the third loop of the initial stitch. There are 16 cells in total.

Bell knitting pattern 13.
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6. 3 chains, double crochet in the next stitch, half double crochet in the next stitch and chain loop, (double crochet in the next stitch and chain loop, half double

crochet in the next stitch and chain loop, single crochet in the next stitch and chain loop, half double crochet in the next column and air loop) repeat in a circle, close

in the third loop of the initial column.

7. single crochet in the next stitch, chain 1, single crochet in the same stitch, chain 8, skip the next 7 stitches. (single crochet into the next stitch, 8 chain stitches,

skip the next 7 loops) repeat in a circle, close o . You should get 4 large loops.

8. 3 chains, double crochet in the next loop, half double crochet in the next 2 loops, single crochet in the next 2 loops, half double crochet in the next 2 loops,

double crochet in the next 2 loops, (dc in the next single crochet and air loop, half double crochet in the next 2 loops, single crochet in the next 2 loops, half

double crochet in the next 2 loops, double crochet in the next loop) repeat in a circle, close in the third loop of the starting chain.

9 and 10. 1 chain, single crochet in the same loop and in each next loop in a circle, close o .

11. 1 chain, single crochet in the same loop, 15 chain, skip the next single crochet, single crochet in the next single crochet, (15 chain, skip the next single crochet,

single crochet in the same loop) repeat in a circle, skip the last single crochet, chain 9, double crochet into the  rst single crochet. You will get 18 large loops.

12. 1 chain, single crochet in the same loop, 5 chain, tight double crochet in the 5th loop from the hook, (3 single crochet in the next large loop, 5 chain, tight

double crochet in the 5th loop from the hook) repeat in a circle, 2 single crochets in the same large loop in the  rst stitch, close with a tight stitch in the  rst stitch.

Finish.
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Bell knitting pattern 15.

Description of knitting a bell 14
1. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet.

2. 7 chain stitches, a double crochet stitch in the seventh chain loop from the hook, 2 chain loops, (a double crochet stitch in the same loop, 2 chain crochets)

repeat twice, connect with a half stitch with the  fth chain loop of the initial chain of 7 loops. You will get 4 cells.

3. 3 double crochets, 4 double crochets in the  rst square, (1 double crochet in a double crochet, 4 double crochets in the next square) repeat in a circle, connect

with a tight double crochet to the  rst column. There are 20 double crochets in total.

4. 3 chain crochets, 1 double crochet in the next 2 stitches of the previous row, 3 chain crochets, skip the next stitch, (1 double crochet in the next 3 stitches, 3

chain crochets, skip the next stitch) repeat in a circle, close. There are 5 arches in total from 3 air loops.

5. 3 chain crochets, 1 double crochet in the next 2 stitches, 3 chain crochets, 1 single crochet in the next arc of 3 loops, 3 chain crochets, (dc in the next 3 stitches,

3 chain crochets, 1 single crochet in the arc, 3 air) repeat in a circle, close the row. There are 10 arms in total.

6. 3 chain crochets, double crochet in the next 2 stitches, chain 3, (dc in the next 3 stitches, 3 chain crochets) repeat in a circle, close o .

7. 3 chain crochets, double crochet in the next 2 stitches, 1 chain crochet, 3 double crochets in the central loop of the arc, 1 chain crochet, (dc in the next 3

stitches, 1 chain crochet, 3 double crochets in the central loop of the arc, 1 air) repeat in a circle, close. There are 10 arms in total.

8. 3 chain crochets, double crochet in the next 2 stitches, chain 2, (dc in the next 3 stitches, 2 chain crochets) repeat in a circle, close o .

9. 3 chain crochets, double crochet in the next 2 stitches, chain 3, (double crochet in the next 3 stitches, 2 chain crochets) repeat in a circle, close o .

10. 3 chain crochets, double crochet in the next 2 stitches, 3 single crochets in an arc, 3 chain crochets, (dc in the next 3 stitches, 3 chain crochets, 1 single crochet

in the next arc, 3 chain crochets) repeat in a circle, close. There are 20 arms in total.

11. 3 chain crochets, double crochet in the next 2 stitches, chain 4 (double crochet in the next 3 stitches, 4 chain crochets) repeat in a circle, close o . There are 10

arms in total.

12. 1 chain, 1 single crochet in the same loop and 2 double crochets, 4 single crochets in the next arc, (single crochet in the next 3 double crochets, 4 single

crochets in the arc) repeat in a circle, close. Finish.



Description of knitting a bell 15.
1. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet.

2. 7 chain stitches, a double crochet stitch in the seventh chain loop from the hook, 2 chain loops, (a double crochet stitch in the same loop, 2 chain crochets)

repeat twice, connect with a half stitch with the  fth chain loop of the initial chain of 7 loops. You will get 4 cells.

3. 1 chain, 1 single crochet in the same loop, 3 single crochets in the next box, (1 single crochet in a double crochet, 3 single crochets in a box) repeat in a circle,

close the row. There are 16 single crochets in total.

4. 1 chain, single crochet in the same loop, (3 chain, single crochet in the next stitch) repeat in a circle to make the last arc - 1 chain, single crochet. There are 16

arms in total.

5-8. 1 chain, single crochet in the same loop, (3 chain, single crochet in the next arc) repeat in a circle, for the last arc - 1 chain, 1 double crochet.

9. 1 chain, single crochet in the same loop, 2 single crochets in each next arc, single crochet in the  rst arc, close. There are 32 columns in total.

10-11. 1 chain stitch, single crochet in the same loop and in each subsequent stitch, close o .

12. 1 chain, single crochet in the same loop and in the next 2 stitches, 15 chains, (single crochet in the next 4 stitches, 15 chains) repeat until the last stitch, single

crochet in the last stitch. There are 8 arcs in total.

13. 1 chain, single crochet in the same loop and in the next stitch, 2 chains, 12 single crochets in the  rst arc, 2 chains, skip the next stitch, (single crochet in the

next 2 stitches, , 2 chains, 12 stitches single crochet in an arc, chain 2, skip the next stitch) repeat in a circle, close. Cut the thread.

14. Attach the thread with a stitch in the sixth stitch of the arc, 1 chain stitch, single crochet in the same loop and the next stitch, 5 chain stitches, skip the next 12

stitches, (single crochet in the next 2 stitches, 5 chain crochets, skip the next 12 stitches) repeat in a circle, close. There are 16 columns in total.

15. 1 chain, 1 single crochet in the same loop and the next stitch, single crochet in the next 2 chains, 2 single crochets in the next chain, single crochet in the next 2

chains, (single crochet in the next 2 chains, 2 single crochets in the next chain, single crochet in the next 2 chains) repeat in a circle, close. There are 64 columns in

total.

16. 1 chain, 1 single crochet in the same loop and the next stitch and the next 3 stitches, (single crochet, 3 chains, single crochet) in the next stitch, * single crochet

in the next 7 stitches, (single crochet , 3 chain stitches, single crochet) in the next stitch * repeat 6 more times, single crochet in the last 3 stitches, close o . Finish.
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1. Close 12 air loops into a ring. There are 25 single crochets in the ring, distribute them evenly, close the row with a tight stitch in the  rst single crochet.

2. 7 chain stitches, a double crochet stitch in the seventh chain loop from the hook, 2 chain stitches, (a double crochet stitch in the same loop, 2 chain crochets)

repeat twice, connect with a half stitch with the  fth chain loop of the initial chain of 7 loops. You will get 4 cells.

3. 1 chain, 1 single crochet in the same loop, 3 single crochets in the next box, (1 single crochet in a double crochet, 3 single crochets in a box) repeat in a circle.,

close the row. There are 16 single crochets in total.

4. 5 chain loops, (1 double crochet, 1 chain) repeat in a circle, close the row into the fourth loop of the initial chain.

5. 1 chain, 1 single crochet in each loop of the previous row, close o . There are 32 columns in total.

6 and 7. 1 chain, 1 single crochet in each loop of the previous row, close o .

8. 1 chain, 1 single crochet in the same loop, 20 chain, 1 tight

stitch in the 15th loop from the hook, 5 chain stitches (1 tight stitch in the next 4 stitches of the previous row, 20 chain stitches, 1 tight stitch in the 15th loop from

the hook, 5 chain stitches), repeat 6 more times, 1 single crochet in the remaining 3 columns of the previous row, close. There are 8 rings in total.

9. 6 single crochets in an arc formed by 5 chain loops, 15 single crochets in a ring, mark the last column as the junction, 2 single crochets in the same ring, 6 single

crochets in each of the next two arcs of 5 chain stitches , 3 single crochets in the next ring, 1 chain, 1 tight single crochet in the previously marked column, 1 chain,

(12 single crochets in the same ring, mark the last stitch as the joining point, 2 single crochets in the same ring, 6 single crochet in each of the next two arcs of 5

chains, 3 single crochets in the next ring, 1 chain, 1 tight column in the previously marked column, 1 chain), repeat 5 more times, 11 single crochets in the same

ring, 1 chain stitch, 1 tight stitch in the third stitch of the  rst ring, 1 chain stitch, 3 single crochets in the same ring, 6 single crochets in an arc of 5 chain stitches, 1

tight stitch in the  rst stitch,  nish.


